



姓名: _____

日期: _____ 分數: _____

$$\left(\frac{2}{5}\right)^2 + \frac{3}{4} =$$

$$\left(-\frac{1}{4}\right)^{(-2)} - \frac{1}{2} =$$

$$\left(-\frac{1}{3}\right)^{(-1)} + \frac{1}{3} =$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{2}\right)^{(-2)} + \frac{1}{6} =$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{4}\right)^{(-2)} - \frac{2}{5} =$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \frac{1}{2} =$$

$$\left(\frac{1}{3}\right)^2 - \frac{1}{6} =$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{3}{4}\right)^{(-1)} - \frac{1}{6} =$$

$$\left(\frac{1}{2}\right)^{(-2)} - \frac{3}{4} =$$

$$\left(\frac{1}{5}\right)^0 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{2}\right)^0 - \frac{1}{5} =$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{5}\right)^2 - \frac{1}{6} =$$

$$\left(-\frac{2}{5}\right)^{(-2)} - \frac{1}{4} =$$

$$\left(\frac{1}{3}\right)^2 + \frac{3}{4} =$$



姓名: _____

日期: _____ 分數: _____

$$\left(\frac{2}{5}\right)^2 + \frac{3}{4} = \frac{91}{100}$$

$$\left(-\frac{1}{4}\right)^{(-2)} - \frac{1}{2} = \frac{31}{2} = 15\frac{1}{2}$$

$$\left(-\frac{1}{3}\right)^{(-1)} + \frac{1}{3} = \left(-\frac{8}{3}\right) = \left(-2\frac{2}{3}\right)$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{1}{3}\right) = \left(-\frac{13}{75}\right)$$

$$\left(\frac{1}{2}\right)^{(-2)} + \frac{1}{6} = \frac{25}{6} = 4\frac{1}{6}$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \left(-\frac{1}{2}\right) = \frac{9}{2} = 4\frac{1}{2}$$

$$\left(\frac{1}{4}\right)^{(-2)} - \frac{2}{5} = \frac{78}{5} = 15\frac{3}{5}$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{2}{5}\right) = \frac{14}{25}$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \frac{1}{2} = \frac{41}{18} = 2\frac{5}{18}$$

$$\left(\frac{1}{3}\right)^2 - \frac{1}{6} = \left(-\frac{1}{18}\right)$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{1}{3}\right) = \frac{28}{75}$$

$$\left(-\frac{3}{4}\right)^{(-1)} - \frac{1}{6} = \left(-\frac{3}{2}\right) = \left(-1\frac{1}{2}\right)$$

$$\left(\frac{1}{2}\right)^{(-2)} - \frac{3}{4} = \frac{13}{4} = 3\frac{1}{4}$$

$$\left(\frac{1}{5}\right)^0 + \left(-\frac{1}{3}\right) = \frac{2}{3}$$

$$\left(\frac{1}{2}\right)^0 - \frac{1}{5} = \frac{4}{5}$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \left(-\frac{3}{5}\right) = \frac{17}{5} = 3\frac{2}{5}$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{2}{5}\right) = \left(-\frac{3}{20}\right)$$

$$\left(\frac{1}{5}\right)^2 - \frac{1}{6} = \left(-\frac{19}{150}\right)$$

$$\left(-\frac{2}{5}\right)^{(-2)} - \frac{1}{4} = 6$$

$$\left(\frac{1}{3}\right)^2 + \frac{3}{4} = \frac{31}{36}$$